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Objective: to Perform a statistical study to analyze some sample data
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import numpy as np

# Step 1: Sample patient weight data (in kilograms)
weights = [65, 72, 78, 85, 90, 55, 60, 75, 80, 70]

# Step 2: Calculate basic statistics

mean weight = np.mean(weights) # Average weight
median_weight = np.median(weights) # Middle value
std_dev_weight = np.std(weights) # Standard deviation
min_weight = np.min(weights) # Minimum weight
max_weight = np.max(weights) # Maximum weight

# Step 3: Print the results

print(f'Mean Weight: {mean weight:.2f} kg")
print(f"Median Weight: {median weight:.2f} kg")
print(f'Standard Deviation: {std dev_weight:.2f} kg")
print(f"Minimum Weight: {min_weight} kg")
print(f"Maximum Weight: {max_ weight} kg")
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import numpy as np

# <) daild

x=110,0.5,12, 0,90, 8, 45, 2, 44, 1, 35, 5, 513, 35. 4]

# doulud) clbilaay) clua
meanl = np.mean(x)
medianl = np.median(x)
max1 = np.max(x)
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minl = np.min(x)
std1 = np.std(x)
varl = np.var(x)
range_x = np.ptp(x)

# clibaay) el

print(f"The mean of x is {mean1:.2f} Kg")

print(f" The median of x is {median1:.2f} Kg'")
print(f" The max of x is {max1:.2f} Kg")

print(f'" The min of x is {min1:.2f} Kg")

print(f" The standard deviation of x is {std1:.2f} Kg')
print(f"' The variance of x is {var1:.2f} Kg")

print(f" The range of x is {range x:.2f} Kg")

# bl adad
normalized_x = (np.array(x) - np.min(x)) / (np.max(x) - np.min(x))
print(f" The normalized values of x are: {np.round(normalized_x, 2)} Kg")

# ¢S a5 laa

def freq_distribution(data):
unique, counts = np.unique(data, return_counts=True)
return dict(zip(unique, counts))

freq_dis = freq_distribution(x)

print(" The frequency distribution:')

for key, val in freq_dis.items():
print(f"Value {key} appears {val} times')

# (<98 Bas B aladiialy lidl) axe JLad)) 48l (& e Glua
num_bins = int(np.ceil(1 + 3.322 * np.logl0(len(x)))) # <Udl) a3e a8 (s ) gl Bac 1

class width = (max1 - minl) / num_bins
print(f''The class width is {class width:.2f} Kg")
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x=[4,35,513 ,5,35.1 .44 ,2 ,45.,8.,90.,0 .12 ,0.5,10]
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meanl = np.mean(x) # vl bosgiodl oluas
medianl = np.median(x) # hLcwgl ol

maxl = np.max(x) soboll dous

minl = np.ﬂli.‘]()() ¥ Seall dossll dlx
stdl = np.std(x) # Shead] IV Olius
varl = np.var(x) F ol ol

range_x = np.ptp(x) # (dod 20 Ao uS1) Saadl vl
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print(f'"' The mean of x is {mean1:.2f} Kg")

print(f" The median of x is {median1:.2f} Kg'")
print(f"' The max of x is {max1:.2f} Kg'")

print(f'" The min of x is {min1:.2f} Kg")

print(f"'The standard deviation of x is {std1:.2f} Kg")
print(f"' The variance of x is {var1:.2f} Kg")
print(f'"'The range of x is {range x:.2f} Kg')
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x — min(z .
(2) = normalized value

max(z) — min(z)
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normalized_x = (np.array(x) - np.min(x)) / (np.max(x) - np.min(x))

print(f''The normalized values of x are: {np.round(normalized_x, 2)} Kg")
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